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(37) If A is a 4 x 3 matrix then there exists a vector b 1(1 R* such that the system AZ = b is inconsistent.
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(38) There is an invertible n X n matrix with two identical rows.
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(39) If ¥, 7, and @3 are any 3 vectors in R® then there must be a linear transformation T from R to
R* such that T(4) = &, T(th) = €, and T(7) = &.
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(40) If Ais a 4 x 3 matrix of rank 3 and A% = A0 for two vectors 7 and & in R? then the vectors ¥ and
W must.be equal.

(v AHv-w)=0 - 20 V=D

(41) If A and B are two 4 x 3 matrices such that A% = B4 for all vectors ¥ in R? then the matrices A
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(42) If V_is any 3-dimensional subspace of R® then V has infinitely many bases.
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(43) If A = [ 4 7 u ] and rref(A) = { 3 | then the equa‘:zw = 2U + 37 must hold.
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(44) The formula (A7) - ( ¥- h lds for all invertible 2 x 2 matrices A and for all vectors ¥ and

win K <= Cc 7/@
@ Praowbtwﬁwe __Lf:v\i«g%-

(45) If ¥y, Ty, . .., U, and Wy, W, . . . , W, are two bases of R™ then there is a linear transformation 7 from
R™ to R such that T(%) = wl,T( h) = Wy, .
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